



PRICE LIST & WEIGHT CHART

EXCLUDING VAT

Effective From 2082/10/13



३ दशकको विश्वसनीयता



9001



PIONEER'S GUARANTEE



Right Number of wires inside Cable



Full Length Guarantee



Right Outer Diameter of Cable



No Cracking No Sticky PVC



Trouble Free Service Life



Lower Electricity Bill

FIXED WIRING FR-LSH CABLE

Flame Retardant Low Smoke Low Halogen Cable

Size (Sq.mm)	Only Copper weight in 6 inch cable(gm)	Price/ Box of 90m	Packing size (Box/Carton)	Price/ Carton (VAT Extra)
0.75	0.94	2340	16	37440
1.00	1.27	3125	16	50000
1.50	1.89	4600	12	55200
2.50	3.10	7380	8	59040
4.00	4.98	11770	6	70620
6.00	7.45	17400	4	69600
10.00	12.36	28125	3	84375

FIXED WIRING MULTISTRAND CABLE

Size (Sq.mm)	Only Copper weight in 6 inch cable(gm)	Price/ Coil of 90m	Packing size (Coil/Bag)	Price/Bag (VAT Extra)
0.50	0.62	1450	18	26100
0.75	0.94	2100	18	37800
1.00	1.27	2840	18	51120
1.50	1.89	4220	18	75960
2.50	3.10	6860	15	102900
4.00	4.98	10830	10	108300
6.00	7.45	16500	6	99000
10.00	12.36	26730	3	80190

FIXED WIRING ZHFR CABLE

Zero-Halogen Flame Retardant Cable

Size (Sq.mm)	Only Copper weight in 6 inch cable(gm)	Price/ Coil of 90m	Packing size (Coil/Bag)	Price/Bag (VAT Extra)
0.75	0.94	2560	18	46080
1.00	1.27	3410	18	61380
1.50	1.89	5000	18	90000
2.50	3.10	7970	15	119550
4.00	4.98	12630	10	126300
6.00	7.45	18570	6	111420
10.00	12.36	30160	3	90480

FLEXIBLE CABLE

PRICE/COIL (90 MTR)			
Size	Type	Price (VAT Extra)	Packing (Coil/Bag)
14/60	Medium	1170	20
14/60	Spl.Thick	1265	20
23/60	Spl.Thick	2010	15
40/60	Heavy	3635	10
14/60	TWIN PARALLEL	1300	20
23/60	TWIN PARALLEL	2035	15
40/60	TWIN PARALLEL	3655	10
23/60	Two Core	2775	5
40/60	Two Core	3320	5
23/60	Three Core	3830	5
40/60	Three Core	5630	5

SINGLE CORE FLEXIBLE CABLE (IS 694)

PRICE/METER	
Size (Sq.mm)	Price (VAT Extra)
16	490
25	765
35	1070
50	1540
70	2180
95	2860
120	3740
150	4650
185	5740
240	7575
300	9450
400	12450

SUBMERSIBLE CABLE (IS 694)

PRICE/METER	
Size (Core X Area)	Price (VAT Extra)
3X1.5 Sq.mm	165
3X2.5 Sq.mm	265
3X4 Sq.mm	410
3X6 Sq.mm	600
3X10 Sq.mm	1015

MULTICORE FLEXIBLE CABLE (IS 694)

PRICE/METER (VAT Extra)			
Size (Sq.mm)	2 Core	3 Core	4 Core
0.75	70	95	120
1	80	115	150
1.5	115	165	215
2.5	185	265	350
4	290	420	555
6	425	620	820
10	695	1020	1345
16	1040	1565	2035
25	1610	2400	3140
35	2245	3320	4400
50	3225	3765	6315
70	4550	6730	8925
95	5965	8830	11710

CONCENTRIC CABLE

PRICE/METER	
Size	Price (VAT Extra)
6	38
10	54
16	105
25	140

AERIAL BUNDLED CONDUCTOR (ABC) CABLE AS PER IS14255

SIZE Core X Sqmm	Weight of Aluminium only (Minimum)		Price/ Mtr(Rs.) (VAT Extra)
	In 1 Core (kg/km)	In 1 core of 6 inch sample (gm)	
2x16	129	19.7	105
2x25	192	29.3	160
2x35	256	39.0	215
2x50	341	52.0	280
2x70	474	72.3	395
2x95	648	98.8	545
4x16	260	39.6	205
4x25	387	59.0	305
4x35	513	78.2	415
4x50	683	104.1	550
4x70	951	145.0	790
4x95	1297	197.7	1080

AUTO & BATTERY CABLE

PRICE/COIL (25 MTR)		
Size	Price (VAT Extra)	Packing (Box/Carton)
3 MM	600	100
4 MM	900	100
5 MM	1760	50
6 MM	2200	50
7 MM	2750	50
8 MM	4050	25
10 MM	9260	10
61/20	34175	2
61/18	60600	2

UV CABLE

PRICE/METER	
Size (Sq.mm)	Price (VAT Extra)
0.75	55
1.5	105
2.5	175

TELECOMMUNICATION CABLE

PRICE/COIL (90mtr)	
Size	Price (VAT Extra)
2/20	4225
2/22	2700

CONTROL CABLE AS PER IS 1554 (1)/IS 7098 (1)

PRICE/METER (VAT Extra)

No. of Cores	1.5 Sq.mm		2.5 Sq.mm	
	Armoured	Unarmoured	Armoured	Unarmoured
2	185	140	265	215
3	245	195	355	305
4	310	255	450	400
5	370	310	540	495
6	435	370	625	595
7	485	420	705	680
8	550	485	810	780
9	600	550	910	875
10	655	610	1000	970
11	710	660	1090	1060
12	770	715	1180	1150
13	825	775	1275	1240
14	880	830	1360	1330
15	945	890	1455	1425
16	1000	930	1540	1520
17	1060	1000	1640	1610
18	1120	1060	1730	1710
19	1170	1110	1810	1790
20	1240	1170	1915	1890
21	1300	1225	2000	1980
22	1350	1290	2100	2085
23	1410	1340	2165	2175
24	1470	1400	2265	2270
25	1525	1450	2350	2360
26	1580	1510	2440	2450
27	1640	1570	2525	2540
30	1810	1730	2800	2820

COPPER POWER CABLE AS PER IS 1554(1)/IS 7098(1)
PRICE/METER (VAT Extra)

Size (Sq.mm)	Weight of Copper Only (Minimum)		Armoured					Unarmoured				
	in 1 Core (kg/km)	in 1 core of 6 inch sample (gm)	2 Core	3 Core	3.5 Core	4 Core	1 Core	2 Core	3 Core	3.5 Core	4 Core	
1.5	13.4	2.0	200	265	-	335	-	145	205	-	265	
2.5	22.3	3.4	285	385	-	490	-	225	320	-	420	
4	35.6	5.4	420	580	-	750	-	340	490	-	645	
6	53.4	8.1	585	820	-	1070	-	495	715	-	945	
10	83	12.7	870	1235	-	1570	-	775	1130	-	1495	
16	135	20.6	1250	1800	-	2380	575	1165	1735	-	2320	
25	214	32.6	1910	2815	3400	3725	900	1830	2735	3315	3650	
35	294	44.8	2660	3940	4475	5220	1265	2575	3855	4385	5150	
50	385	58.7	3515	5215	6140	6935	1685	3425	5120	6040	6850	
70	585	89.2	5010	7460	8775	9920	2405	4915	7360	8675	9850	
95	780	118.9	6860	10255	11985	13625	3330	6755	10135	11875	13550	
120	1005	153.2	8640	12905	15395	17160	4220	8520	12780	15300	17110	
150	1247	190.1	10530	15730	19145	20930	5145	10400	15600	19025	20890	
185	1565	238.6	13275	19810	23245	26375	6480	13105	19670	23125	26340	
240	2065	314.8	17325	25895	30225	34480	8985	17145	25750	30120	34475	
300	2601	396.5	21710	32450	37720	43200	10640	21510	32290	39675	43240	
400	3315	505.3	27620	41310	49970	55000	13545	27395	41140	49890	55095	

Note: For Prices of above sizes 400 sq.mm (Power Cable) or any other specification, Please contact our nearest Sales Representatives or call-9802700216

ALUMINIUM POWER CABLE AS PER IS 1554(1)/IS7 098(1)

PRICE/METER (VAT Extra)

Size (Sq.mm)	Weight of Aluminium only (Minimum)		Armoured					Unarmoured				
	In 1 Core (kg/km)	In 1 core of 6 inch sample (gm)	2 Core	3 Core	3.5 Core	4 Core	1 Core	2 Core	3 Core	3.5 Core	4 Core	
2.5	6.6	1.0	115	130	-	150	-	55	65	-	85	
4	10.7	1.6	150	175	-	205	-	70	85	-	100	
6	16	2.4	175	205	-	260	-	85	110	-	135	
10	27	4.1	215	260	-	280	-	120	155	-	195	
16	40	6.1	230	270	-	345	75	145	205	-	280	
25	65	9.9	290	390	465	490	105	210	310	385	420	
35	90	13.7	360	495	570	620	135	275	410	485	555	
50	122	18.6	450	620	740	810	175	360	525	640	725	
70	178	27.1	590	830	1000	1080	230	495	730	900	1015	
95	246	37.5	755	1095	1295	1415	325	650	975	1185	1340	
120	310	47.3	920	1335	1615	1785	400	800	1210	1515	1730	
150	378	57.6	1115	1615	1905	2105	485	990	1475	1790	2070	
185	480	73.2	1400	2000	2380	2625	605	1230	1855	2260	2590	
240	605	92.2	1750	2540	3010	3340	770	1575	2390	2905	3335	
300	775	118.1	2160	3125	3690	4100	965	1960	2965	3600	4140	
400	1005	153.2	2705	3935	4665	5170	1210	2480	3760	4730	5260	

Note: For Prices of above sizes 400 sq.mm (Power Cable) or any other specification, Please contact our nearest Sales Representatives or call-9802700216



PIONEER CABLE®
Fit & Forget Cable



PIONEER ELECTROCABLES PVT. LTD

BIRATNAGAR-6, NEPAL. TEL NO: 021-570935, EMAIL: SALES.PIONEERCABLEBRT@GMAIL.COM

KATHMANDU OFFICE: THAPATHALI MARG, PH NO: 01-5444771, EMAIL: SALES.PIONEERCABLE@GMAIL.COM



Discount सम्बन्धी जानकारीका लागि
दिइएको नम्बरमा सम्पर्क गर्न सक्नु हुन्छ ।

9802700213